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Land Use Description Hydrologic Soil Group

A B C D

Cultivated landl: without conservation treatment 72 81 88 91
with conservation treatment 62 71 78 81
Pasture or range land: poor condition 68 79 86 89
good condition 39 61 74 80
Meadow: good condition 30 58 71 78
Wood or forest land: thin stand, poor cover, no mulch 45 66 77 83
good cover2 25 55 70 77
Open Spaces, lawns, parks, golf courses, cemeteries, etc.
good condition: grass cover on 75% or more of the area 39 61 74 80
fair condition: grass cover on 50% to 75% of the area 49 69 79 84
Commercial and business areas (85% impervious) 89 92 94 95
Industrial districts (72% impervious) 81 88 91 93
Residential3:
Average lot size Average % impervious4
1/8 acre or less 65 77 85 S0 92
1/4 acre 38 61 75 83 87
1/3 acre 30 57 72 81 86
1/2 acre 25 54 70 80 85

[ acre 20 51 68 79 84




Cny 30 St cadsl Cody dal 2 gl Jede pl S 58 am g 4SO ul 4l

= P ) SSRGSl p D (R r o AR

P.“-S v,.é_)ﬁ‘)fl' ijww J).Lsg—_).‘- el enls )'I.LE'.O j1 J_-Unb ;J;JMA—:CN_;'I.LE.A
AMC? (IT) s ool 1
AMC (D) it Lol
AMC (IID) o gb o Jal 2

R Y f'._q_.ﬁ1}.?- In:-'"_)’anﬁ \.«"ﬂ BL.

N@D = 4.2CN(TD)
10 —0.058 CN (1)
23CN(ID)

CN(II) =
10 + 0.13CN(II)

o35 31Ol Sl /00 &S GUESa A s as e G s sl 0 5L Gl el Sl e
WS Sose 50 sl |y ol C o}; 3 Ol 7.0n p B

05U TN 505 33 5 700 U s8I 5 sl 0 L S el T

e J‘::Lf 3 lls ol SIS CR FIRVE A I N, W RS PR P \_r:u'i' .

mhl3 s sl e oo s SSLL TN E toml Ot alS sl e sl K

Sk SSdssdes 05 S

C B o3 SR8
<> CN <~ CN
VY Ay T VEEe VY Y (adlsa ) S
obr 4y 1 el A (alsa ) S
AAY 4A 4 AANY 4A 4 esl>
Tan Vi ¢ Yig 0 ¢ O itk )
¥V g W1 ¢ arad b gt 3l e
WU aA Y LY WL V. w3 SS5L
A o LeYA 01 e

feS o Jols ON (¢ alons & a3l VU wlie J i e U i
4038 + 4340 1000

CN = =838 = S=——-—10=193inch
100 CN

_ (P —0.25)?
€ P+08S

= 3.25 inch



